

**Revised Purchase Order****Sales Tax Exemption**

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order			
Purchase Order Date	PO/Reference No.	Revision No.	Revision Date
<b>Apr 26, 2023</b>	<b>AB0807031</b>	<b>10</b>	<b>Jul 29, 2025</b>
<b>Contact instructions for questions regarding this Purchase Order:</b>			
If Buyer Contact information is listed below, please contact the Buyer.			
If not, please contact the Customer.			
<b>Buyer Contact:</b>			
Buyer	Buyer Email	Buyer Phone Number	
gri - Iacopetti, Greg	griacopetti@pvamu.edu	936.261.1937	
<b>Customer Contact:</b>			
Name:	Shekinah Williams		
Email:	SJWILLIAMS@PVAMU.EDU		
Phone:	+1 832-762-6107		

**Order acceptance instructions:**

**Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: <http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf>**

Supplier Information		Delivery Information	
Supplier Name	FULCRUM TECHNOLOGY SOLUTIONS LLC	<b>Delivery Address</b>	
Address	2603 AGUSTA STE 1325 HOUSTON, Texas 77057 United States	TAMUS Member:	05-Prairie View A&M University (05)
Phone	+1 832-954-2865	Attn:	LaPorsha Washington
FOB / FREIGHT	Destination	Auxilliary Services	
Pre-Pay & Add	No	c/o Central Receiving Warehouse	
Payment Terms	0, Net 30	Room	107
Contract Number - Header	<i>no value</i>	1178 Reda Bland Evans St	
Contract Number - Line	<i>no value</i>	MS 1405	
Quote number		Prairie View, TX 77446	
		United States	
<b>Delivery Information</b>			
Required Delivery Date			
Ship Via		Best Carrier-Best Way	

**Notes to Supplier****Shipping Instructions**

Attachments for supplier

CS Gold Hardware ...

**PO Clauses**

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
--------	-----	--	---

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 50	PowerEdge R650 Server	n/a	EA	985.63 USD	2 EA	1,971.26 USD
2 of 50	10x2.5 Front Storage	n/a	EA	0.00 USD	2 EA	0.00 USD
3 of 50	SAS/SATA/NVMe Capable Backplane	n/a	EA	0.00 USD	2 EA	0.00 USD
4 of 50	No Rear Storage	n/a	EA	0.00 USD	2 EA	0.00 USD
5 of 50	Trusted Platform Module 2.0 V3	n/a	EA	29.57 USD	2 EA	59.14 USD
6 of 50	2.5" Chassis with up to 10 Hard Drives (SAS/SATA) including max of 4 Universal Drives, 3 PCIe Slots, 2 CPU	n/a	EA	161.29 USD	2 EA	322.58 USD
7 of 50	Intel Xeon Silver 4310 2.1G, 12C/24T, 10.4GT/s, 18M Cache, Turbo, HT (120W) DDR4-2666	n/a	EA	334.21 USD	2 EA	668.42 USD
8 of 50	Intel Xeon Silver 4310 2.1G, 12C/24T, 10.4GT/s, 18M Cache, Turbo, HT (120W) DDR4-2666	n/a	EA	334.21 USD	2 EA	668.42 USD
9 of 50	Additional Processor Selected	n/a	EA	0.00 USD	2 EA	0.00 USD
10 of 50	Heatsink for 2 CPU configuration (CPU less than or equal to 165W)	n/a	EA	0.00 USD	2 EA	0.00 USD
11 of 50	Performance Optimized	n/a	EA	0.00 USD	2 EA	0.00 USD
12 of 50	3200MT/s RDIMMs	n/a	EA	0.00 USD	2 EA	0.00 USD
13 of 50	16GB RDIMM, 3200MT/s, Dual Rank	n/a	EA	238.64 USD	8 EA	1,909.12 USD
14 of 50	Unconfigured RAID	n/a	EA	0.00 USD	2 EA	0.00 USD
15 of 50	PERC H755 SAS Front	n/a	EA	597.06 USD	2 EA	1,194.12 USD

16 of 50	Front PERC Mechanical Parts, rear load	n/a	EA	0.00 USD	2 EA	0.00 USD
17 of 50	960GB SSD SAS 12Gbps MU FIPS-140 PM6 512e 2.5in Hot-Plug 3 DWPD	n/a	EA	1,011.31 USD	8 EA	8,090.48 USD
18 of 50	Power Saving Dell Active Power Controller	n/a	EA	0.00 USD	2 EA	0.00 USD
19 of 50	UEFI BIOS Boot Mode with GPT Partition	n/a	EA	0.00 USD	2 EA	0.00 USD
20 of 50	4 High Performance Fans for 2 CPU	n/a	EA	59.44 USD	2 EA	118.88 USD
21 of 50	Dual, Hot-plug, PSU (1+1), 800, Mixed Mode TM	n/a	EA	250.59 USD	2 EA	501.18 USD
22 of 50	Jumper Cord - C13/C14, 4M, 250V, 12A (North America, Guam, North Marianas, Philippines, Samoa)	n/a	EA	10.46 USD	4 EA	41.84 USD
23 of 50	Riser Config 0, 2CPU, Half Length, Low Profile, 3 x16 Slots, SW GPU Capable	n/a	EA	65.71 USD	2 EA	131.42 USD
24 of 50	PowerEdge R650 Motherboard with Broadcom 5720 Dual Port 1Gb On-Board LOM	n/a	EA	0.00 USD	2 EA	0.00 USD
25 of 50	iDRAC9, Enterprise 15G	n/a	EA	146.06 USD	2 EA	292.12 USD
26 of 50	Broadcom 57412 Dual Port 10GbE SFP+, OCP NIC 3.0	n/a	EA	180.69 USD	2 EA	361.38 USD
27 of 50	No Bezel	n/a	EA	0.00 USD	2 EA	0.00 USD
28 of 50	Luggage Tray x8 and x10 Chassis, R650	n/a	EA	0.00 USD	2 EA	0.00 USD
29 of 50	BOSS-S2 controller card + with 2 M.2 480GB (RAID 1)	n/a	EA	507.46 USD	2 EA	1,014.92 USD
30 of 50	BOSS Cables and Bracket for R650	n/a	EA	14.93 USD	2 EA	29.86 USD
31 of 50	No Quick Sync	n/a	EA	0.00 USD	2 EA	0.00 USD

32 of 50	iDRAC,Factory Generated Password	n/a	EA	0.00 USD	2 EA	0.00 USD
33 of 50	iDRAC Group Manager, Disabled	n/a	EA	0.00 USD	2 EA	0.00 USD
34 of 50	No Operating System	n/a	EA	0.00 USD	2 EA	0.00 USD
35 of 50	No Media Required	n/a	EA	0.00 USD	2 EA	0.00 USD
36 of 50	Bring Your Own VSAN Licenses	n/a	EA	0.00 USD	2 EA	0.00 USD
37 of 50	Cable Management Arm	n/a	EA	20.60 USD	2 EA	41.20 USD
38 of 50	ReadyRails Sliding Rails Without Cable Management Arm or Strain Relief bar	n/a	EA	44.50 USD	2 EA	89.00 USD
39 of 50	No Systems Documentation, No OpenManage DVD Kit	n/a	EA	0.00 USD	2 EA	0.00 USD
40 of 50	PowerEdge R650 Shipping	n/a	EA	0.00 USD	2 EA	0.00 USD
41 of 50	R650 Ship 4x3.5, 10x2.5, 8x2.5 NVMe	n/a	EA	14.64 USD	2 EA	29.28 USD
42 of 50	PowerEdge R650 Non BIS Marking	n/a	EA	0.00 USD	2 EA	0.00 USD
43 of 50	PowerEdge R650 CE, CCC, Marking	n/a	EA	0.00 USD	2 EA	0.00 USD
44 of 50	US Order	n/a	EA	0.00 USD	2 EA	0.00 USD
45 of 50	Custom Configuration	n/a	EA	0.00 USD	2 EA	0.00 USD
46 of 50	Dell Hardware Limited Warranty Plus Onsite Service	n/a	EA	59.73 USD	2 EA	119.46 USD
47 of 50	ProSupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch 3 Years	n/a	EA	228.19 USD	2 EA	456.38 USD
48 of 50	ProSupport Plus Mission Critical 7x24 Technical Support and Assistance 3 Years	n/a	EA	1,444.67 USD	2 EA	2,889.34 USD

49 of 50	Thank you for choosing Dell ProSupport Plus. For tech support, visit //www.dell.com/contactdell	n/a	EA	0.00 USD	2 EA	0.00 USD
50 of 50	On-Site Installation Declined	n/a	EA	0.00 USD	2 EA	0.00 USD
						<b>Total 20,999.80 USD</b>

Billing Information	Billing Address
<p>To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.</p> <p>Invoice must include the PO/Reference number shown above.</p>	<p>Prairie View A&amp;M University- Accounts Payable</p> <p>***Do Not Mail Invoices***</p> <p>Email invoices to Payables@pvamu.edu</p> <p>P.O. Box 519</p> <p>MS 1311</p> <p>Prairie View, TX 77446-0519</p> <p>United States</p>